=EROBRERDD
B AAOBDEEE RS &,

Ij

0O AAOBDEEER D &,

%




o
Eé
ﬁg

D)

2)

op

I}




=ERoERERDD

EhAAOBOEEERD &

* ZAROESWIR)ORHTA

P B =—1x2x(=1)x3
=6
&oT, ROB=ZAFDIEADIL6

EQO=AR
EIxgs=2
=6X1+2
=3

EO=AR
Eldxgs+2
=6X%X3+2
=9

ELRED=AMRERELELT
3+12=12(% %)

A y=a(P+Q)x-aPQZEFIAT 5L,

* 7l 7

EONHBELTNDEEL, HEE—HITLT
RULY,

FOoT. BEIIXEFRZRLELTA

Edxgx+-2

=6x (1+3) +2
=12

y=2x2 'C

& 12
KD AAOBDEREERD &,
) y *
y=x y=a(P+Q)x—-aPQ#F|H3 5L,
{ FIE = —1xix(=1)x2
=2
FoT, ROBD=ZAFDIEDIL2
B BEEXERERLELT
A AAOB={2-(-1)}x2+2=3
10 3 X

& 3




D AAOBDEEE RS &,

pode Y *
° ¢ y=a(P+Q)x—aPQZFIFT 5L,
'8 Y1 =—Ix x(~3)x6

=6

A £2T, ROB=AMDEDIL6
SSlIXEEZEEELELT

AAOB:{G—(—3)}x6+2=27

i

27

Y y=x *
y=a(P+Q)x—-aPQ#F|fd 5L,
A 4 YA =—1x1x(-2)x1

=2
&£2T, ROS=ARDKDIE2
ESIIXEFERLELT

AAOB={1-(-2)|x2+2=3

i
w




